
Online Math Camp (235)

Quiz 3 Solution (45)



See Review Notes of 3/13.



For n =2, need toshow (2, +221 * 12,1 +122).

12 +22) =1+z) =1+2,E+zE2
=Re(11" 22,112zy =121) + 122)

since Z, E, =12,1 & z,Ez +E,zz =2Re(z,z)

For n,(2, +(z +--- zn)) =(zi) +(zn+12s+ -
-- +24) =(z,1 +(z) +12s +12x+-.. +za))

---(zi) +(zi+ ---
+(zn)x



(pf) 4I:For SEN s.t. $183 3 =>3 =IN.
i & Ifke3, then k+1eS

WOP:Any non-emptysetofA has a leastelement.

To show PI=> INOP:

SupposeSIIN has no leastelement

& IAS car thatis the leastelement)

If I ES, then 2&S Dar thatis the leastelement), ....,
&If1, 2, ...,RS, then RHES
Consider the set123, 5,=> &IEINS

*If luke /Nud, then ktGIS
By PI, INd=I. i.e. 3 =4. #



I =(a +bi)=() +zabi =1+vi
-

=>a
b

=n
=b2 =

rE 2ab =v

If v10,a =1b =1
If vco,a =1b =Fr



Suppose 3=a+ bi
.
131 = 1,= a+b* =1

=>(1 +11 11 -2 =(x +1 +bil+(x- a) -bi) =(x+x +bi)(x+bi) +(1 -a) -bi)(-bij
=> (a+y +b4+(1- a)+b* =a+2a+1 +b+1 - 2a +a+b2

=2(a2+by +2 =4 y =a
+bi

e
Geometrically: 3 +1 1-2
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